Multiply and Divide by 102 (A)

Find each product or quotient.

7,062 x 10% = 8,054 x 102 =
1,3x10%= 1,9:10% =
9,5 x 102 = 6,6: 102 =
1,6345 x 102 = 6,7 X 102 =
0,19:10% = 5,5 X 10% =
9,12:10%= 7,5 % 10% =
4,8405 : 10 = 8,856 x 102 =
7,76 x 102 = 6,896 : 102 =
2,5:10% = 7,31 x 10% =
6,9363 : 10 = 7,37 :10% =
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Multiply and Divide by 10% (A) Answers

Find each product or quotient.

7,062 x 10% = 706,2

1,3 x 10* =130

9,5 X 10* =950

1,6345 x 10% = 163,45

0,19:10%*= 10,0019

9,12:10%=0,0912

4,8405 : 10* = 0,048405

7,76 X 10 =776

2,5:10%= 0,025

6,9363 :10* = 0,069363

8,054 x 10% = 805,4

1,9:10°=0,019

6,6 : 10 = 0,066

6,7 X 10> =670

5,5 X 10%> =550

7,5 X 10* = 750

8,856 x 10* = 885,6

6,896 : 10* = 0,06896

7,31 x 10> =731

7,37 : 10> =0,0737
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